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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) What restricts the growth of trade unions. Suggest measures to strengthen it.
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OR

(b) Discuss the importanc of trade union. Explain why employers critiq:ise it.
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2. Explain briefly the following
(i) Role of collective bargaining.
(i) Levels of workers participation in management.
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OR
“Collective bargaining is an institution in itself”. Do you agree? Explain.
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3. (a) “Collective bargaining is neither desirable nor effective in India.” Do you
agree? Explain.
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OR

(b) “Collective bargaining is a part of social life in same way as it is in industrial
life.” Explain.
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4. (a) What is the difference between workers participation in management and
joint management council? Explain.
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OR

(b) “Trade unions are a blessing in disguise for workers”. Explain with relation
to its objectives.
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5. Write short note on any three of the following
(a) Role of worker director
(b) Limitations of WPM
(c) Consequences of collective bargaining

(d) Reason for joining trade union (5 marks each)
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